Bid Comparison

Contract ID: Description: Location: Projects(s):		518-17-TBD Culvert End Section Repair										
		NB I-75 (East Slope) South of bridge over CSX Railroad 518-17-TBD										
Rank	Bidder		Total B	id % Over Low	% Over Est.							
0	ENGINE	ER'S ESTIMATE	\$25,902.0	-34.29%	0.00%							
1	(_90) Gre	en Tech Systems	\$39,424.0	0.00%	52.20%							
2	(06706) k	Kennedy Excavating, Inc.	\$40,756.8	56 3.38%	57.34%							
3	(06862) E	Frie Construction, LLC	\$62,719.0	00 59.08%	142.13%							
4	(02985) Z	ito Construction	\$89,638.0	00 127.36%	246.06%							
5	(09515) V	Valdorf & Sons, Inc.	Bid Rejected=\$99,999 £	99=====================================	*** Incomplete ***							

Line Pay Item Code Q	uantity	Units	(0) ENGINEER'S ES	STIMATE	(1) Green Tech Sys	tems	(2) Kennedy Excava	ting, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030002	1	Ea	\$500.00	\$500.00	\$4,000.00	\$4,000.00	\$2,170.00	\$2,170.00
Culv, Rem, 24 inch to 48 inch								
0002 2030006	1	Ea	\$400.00	\$400.00	\$400.00	\$400.00	\$520.00	\$520.00
Culv, End, Rem, 24 inch to 48 inch								
0003 2040035	50	Ft	\$5.00	\$250.00	\$20.00	\$1,000.00	\$18.00	\$900.00
Guardrail, Rem								
0004 2040050	10	Syd	\$15.00	\$150.00	\$100.00	\$1,000.00	\$64.00	\$640.00
Pavt, Rem								
0005 2050010	170	Cyd	\$12.00	\$2,040.00	\$30.00	\$5,100.00	\$16.00	\$2,720.00
Embankment, CIP								
0006 2050016	170	Cyd	\$12.00	\$2,040.00	\$20.00	\$3,400.00	\$30.00	\$5,100.00
Excavation, Earth								
0007 3020016	10	Syd	\$25.00	\$250.00	\$100.00	\$1,000.00	\$120.00	\$1,200.00
Aggregate Base, 6 inch								
0008 4010051	1	Ea	\$900.00	\$900.00	\$1,500.00	\$1,500.00	\$1,350.00	\$1,350.00
Culv End Sect, Conc, 24 inch								
0009 4010168	30	Ft	\$70.00	\$2,100.00	\$100.00	\$3,000.00	\$275.00	\$8,250.00
Culv, Cl A, Conc, 24 inch								
0010 4011109	1	Ea	\$40.00	\$40.00	\$50.00	\$50.00	\$24.00	\$24.00
Dr Marker Post								
0011 5010025	4	Ton	\$120.00	\$480.00	\$300.00	\$1,200.00	\$610.00	\$2,440.00
Hand Patching								
0012 8070075	50	Ft	\$20.00	\$1,000.00	\$10.00	\$500.00	\$18.00	\$900.00
Guardrail, Salv								
0013 8120012	2	Ea	\$85.00	\$170.00	\$80.00	\$160.00	\$73.00	\$146.00
Barricade, Type III, High Intensity, Doub Lighted, Furn	le Sided,							
0014 8120013	2	Ea	\$10.00	\$20.00	\$10.00	\$20.00	\$6.00	\$12.00
Barricade, Type III, High Intensity, Doub	le Sided,						·	-
Lighted, Oper		- -		#205 00	۹۲ ۵۵۵ ۵۵	<u>شح ممم مما</u>	<u>۴۶ ۸۵۵ ۵۵</u>	¢5 400 00
0015 8120140	1	Ea	\$325.00	\$325.00	\$5,000.00	\$5,000.00	\$5,420.00	\$5,420.00
Lighted Arrow, Type C, Furn								

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Green Tech Syst	ems	(2) Kennedy Excava	iting, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Tota
0016 8120141	1	Ea	\$100.00	\$100.00	\$100.00	\$100.00	\$43.00	\$43.00
Lighted Arrow, Type C, Oper								
0017 8120180	1	Ea	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$3,960.00	\$3,960.00
Mobile Attenuator								
0018 8120252	100	Ea	\$20.00	\$2,000.00	\$6.00	\$600.00	\$6.00	\$600.00
Plastic Drum, Fluorescent, Furn								
0019 8120253	100	Ea	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
Plastic Drum, Fluorescent, Oper								
0020 8120350	456	Sft	\$3.50	\$1,596.00	\$3.00	\$1,368.00	\$2.50	\$1,140.00
Sign, Type B, Temp, Prismatic, Furn								
0021 8120351	456	Sft	\$1.00	\$456.00	\$1.00	\$456.00	\$0.01	\$4.56
Sign, Type B, Temp, Prismatic, Oper								
0022 8130010	5	Syd	\$50.00	\$250.00	\$200.00	\$1,000.00	\$300.00	\$1,500.00
Riprap, Plain								
0023 8160102	147	Syd	\$5.00	\$735.00	\$10.00	\$1,470.00	\$11.00	\$1,617.00
Slope Restoration, Type C								
Bid Totals:				\$25,902.00		\$39,424.00		\$40,756.56

Line Pay Item Code Q	uantity	Units	(3) Erie Constructio	on, LLC	(4) Zito Constructior	1	(5) Waldorf & Sons,	Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030002	1	Ea	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$99,999.99	\$99,999.99
Culv, Rem, 24 inch to 48 inch								
0002 2030006	1	Ea	\$18,000.00	\$18,000.00	\$4,300.00	\$4,300.00	\$0.00	\$0.00
Culv, End, Rem, 24 inch to 48 inch								
0003 2040035	50	Ft	\$20.00	\$1,000.00	\$85.00	\$4,250.00	\$0.00	\$0.00
Guardrail, Rem								
0004 2040050	10	Syd	\$63.00	\$630.00	\$200.00	\$2,000.00	\$0.00	\$0.00
Pavt, Rem								
0005 2050010	170	Cyd	\$40.00	\$6,800.00	\$88.00	\$14,960.00	\$0.00	\$0.00
Embankment, CIP								
0006 2050016	170	Cyd	\$15.00	\$2,550.00	\$36.00	\$6,120.00	\$0.00	\$0.00
Excavation, Earth								
0007 3020016	10	Syd	\$54.00	\$540.00	\$75.00	\$750.00	\$0.00	\$0.00
Aggregate Base, 6 inch								
0008 4010051	1	Ea	\$11,250.00	\$11,250.00	\$3,600.00	\$3,600.00	\$0.00	\$0.00
Culv End Sect, Conc, 24 inch								
0009 4010168	30	Ft	\$106.00	\$3,180.00	\$300.00	\$9,000.00	\$0.00	\$0.00
Culv, Cl A, Conc, 24 inch								
0010 4011109	1	Ea	\$100.00	\$100.00	\$100.00	\$100.00	\$0.00	\$0.00
Dr Marker Post								
0011 5010025	4	Ton	\$500.00	\$2,000.00	\$1,200.00	\$4,800.00	\$0.00	\$0.00
Hand Patching								
0012 8070075	50	Ft	\$20.00	\$1,000.00	\$65.00	\$3,250.00	\$0.00	\$0.00
Guardrail, Salv								
0013 8120012	2	Ea	\$60.00	\$120.00	\$300.00	\$600.00	\$0.00	\$0.00
Barricade, Type III, High Intensity, Doub	ole Sided,							
Lighted, Furn 0014 8120013	2	Ea	\$1.00	\$2.00	\$100.00	\$200.00	\$0.00	\$0.00
Barricade, Type III, High Intensity, Doub	_		φ1.00	Ψ <u>2</u> .00	φ100.00	<i>\</i> 200.00	ψ0.00	\$0.00
Lighted, Oper	-		<u> </u>					
0015 8120140	1	Ea	\$4,450.00	\$4,450.00	\$7,500.00	\$7,500.00	\$0.00	\$0.00
Lighted Arrow, Type C, Furn								

-	Quantity	Units	(3) Erie Constructio		(4) Zito Construction		(5) Waldorf & Sons, Inc.	_
Description			Bid Price	Total	Bid Price	Total	Bid Price	Tota
0016 8120141	1	Ea	\$1.00	\$1.00	\$500.00	\$500.00	\$0.00	\$0.00
Lighted Arrow, Type C, Oper								
0017 8120180	1	Ea	\$3,555.44	\$3,555.44	\$6,000.00	\$6,000.00	\$0.00	\$0.00
Mobile Attenuator								
0018 8120252	100	Ea	\$5.00	\$500.00	\$35.00	\$3,500.00	\$0.00	\$0.00
Plastic Drum, Fluorescent, Furn								
0019 8120253	100	Ea	\$0.01	\$1.00	\$4.00	\$400.00	\$0.00	\$0.00
Plastic Drum, Fluorescent, Oper								
0020 8120350	456	Sft	\$2.00	\$912.00	\$7.00	\$3,192.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Furn								
0021 8120351	456	Sft	\$0.01	\$4.56	\$2.00	\$912.00	\$0.00	\$0.00
Sign, Type B, Temp, Prismatic, Oper								
0022 8130010	5	Syd	\$360.00	\$1,800.00	\$800.00	\$4,000.00	\$0.00	\$0.00
Riprap, Plain								
0023 8160102	147	Syd	\$9.00	\$1,323.00	\$32.00	\$4,704.00	\$0.00	\$0.00
Slope Restoration, Type C								
Bid Totals:				\$62,719.00		\$89,638.00	\$99	,999.99